

Republic of the Philippines PROVINCE OF ISABELA City of Ilagan

OFFICE OF THE BIDS AND AWARDS COMMITTEE NOTICE OF AWARD

May 25, 2022

MS. IRISH JANE T. CRISTOBAL
Proprietor
ISAIAH 8:15 ENTERPRISES
District II, Cauayan City, Isabela

Dear Ms. Cristobal,

We are happy to notify you that the Supply and Delivery of Various Grocery Items for the Province of Isabela in the amount of PhP2,974,043.20 is hereby awarded to you as the Bidder with the Lowest Calculated Responsive Bid.

NO.	QTY	UNIT	DESCRIPTION	UNIT PRICE (PHP)	TOTAL BID PRICE (PHP
1	30	packs	½ kg Salt	₱16.50	₱495.00
2	30	packs	½ kg. Brown Sugar	₱36.00	₱1,080.00
3	30	packs	½ kg. White refined Sugar	₱42.00	₱1,260.00
4	119	bottles	70% Alcohol	₱66.00	₱7,854.00
5	70	pieces	70% ALCOHOL (250 ML)	₱68.11	₱4,767.70
6	20	kilograms	ACHUETE (FOR COLORING)	₱237.60	₱4,752.00
7	1	boxes	All in one seasoning granules	₱1,584.00	₱1,584.00
8	40	packs	All in one seasoning granules	₱ 54.00	₱2,160.00
9	50	dozens	All in one seasoning granules	₱54.00	₱2,700.00
10	30	packs	All in one seasoning granules	₱72.00	₱2,160.00
11	100	pieces	All in one seasoning granules	₱58.08	₱5,808.00
12	4	boxes	All in one seasoning granules 120 GRAMS	₱1,082.40	₱4,329.60
13	30	pieces	All Purpose Cream	₱194.42	₱5,832.60
14	15	tetra pack	All Purpose Cream (tetra pack)	₱120.00	₱1,800.00
15	10	sacks	All purpose flour	₱1,785.00	₱17,850.00
16	10	packs	All Purpose Flour 1kg	₱73.50	₱735.00
17	4	bags	ALL PURPOSE FLOUR 25KG	₱1,785.00	₱7,140.00
18	65	pieces	Aluminum Foil	₱33.00	₱2,145.00
19	3	boxes	Aluminum foil (big)	₱60.00	₱180.00
20	2	rolls	aluminum foil , jumbo	₱450.00	₱900.00
21	3	bags	ARENA 1ST CLASS 50 KG	₱1,575.00	₱4,725.00
22	3	bags	ARENA 3RD CLASS 50 KG	₱1,200.00	₱3,600.00
23	4	packs	Asin 1kg	₱52.50	₱210.00
24	4	packs	ASSORTER CUP CAKES	₱1,122.00	₱4,488.00
25	10	pieces	B.B STERILIZED	₱128.08	₱1,280.80
26	20	pieces	BAGOONG	₱23.76	₱475.20
27	40	pieces	BAGOONG	₱21.12	₱844.80
28	3	boxes	BAGOONG 1 L	₱514.80	₱1,544.40
29	35	boxes	Bagoong 270ml	₱462.00	₱16,170.00
30	3	boxes	BAGOONG 350 ML	₱501.60	₱1,504.80

31	50	pieces	Baked snack crackers cheese (big)	₱23.34	₱1,167.00
32	50	pieces	Baked snack crackers cheese (small)	₱6.60	₱330.00
33	5	kilograms	or the control of the	₱158.40	₱792.00
34	2	packs	Baking Powder	₱128.04	₱256.08
35	32	dozens	Bath Soap	₱285.12	₱9,123.84
36	60	cans	BEEF LOAF	₱24.60	₱1,476.00
37	3	boxes	BEEFLOAF 150 GRAMS	₱1,973.40	₱5,920.20
38	13	boxes	Bihon	₱46.79	₱608.27
39	18	boxes	BIHON	₱119.31	₱2,147.58
40	10	packs	Bihon 500g	₱60.00	₱600.00
41	60	packs	Biscuit	₱79.20	₱4,752.00
42	60	packs	Biscuit	₱56.58	₱3,394.80
43	80	pieces	Biscuit	₱119.31	
44					₱9,544.80
45	80	pieces	Biscuit	₱39.10	₱3,128.00
	70 30	packs	Black Pepper	₱39.60	₱2,772.00
46		packs	Black pepper (ground)	₱33.00	₱990.00
47	300	cuttings	Black pepper cutting	₱66.00	₱19,800.00
48	25	gallons	BLEACH Blooch (liquid)	₱261.36	₱6,534.00
49 50	60	pieces	Bleach (liquid)	₱18.48	₱1,108.80
50	60	pieces	Bleach (liquid)	₱47.44	₱2,846.40
51	4	boxes	Bleach (liquid) .500 L	₱1,116.72	₱4,466.88
52	4	boxes	Bleach (liquid) 1 L	₱541.20	₱2,164.80
53	4	cases	Bleach (liquid) 250 ML	₱1,188.00	₱4,752.00
54	65	bottles	Bleach (liquid) LARGE	₱33.00	₱2,145.00
55	65	bottles	Bleach (liquid) MEDIUM	₱19.80	₱1,287.00
56	65	bottles	Bleach (liquid) SMALL	₱10.56	₱686.40
57	50	pieces	Bleach (liquid) WHITE	₱11.09	₱554.50
58	60	pieces	Bleach (liquid)SUPERBIG	₱25.85	₱1,551.00
59	3	boxes	Bleach Liquid Original 100ml (72pc/box)	₱900.00	₱2,700.00
60	35	pieces	BLOC WATER	₱16.06	₱562.10
61	32	dozens	Body soap	₱285.12	₱9,123.84
62	32	dozens	Body soap (papaya)	₱269.28	₱8,616.96
53	4	boxes	Body soap 135 GRAMS	₱1,766.16	₱7,064.64
54	60	pieces	Body soap 60 GRAMS	₱23.76	₱1,425.60
55	6	dozens	Body Soap 60g (by 12s)	₱324.00	₱1,944.00
56	4	boxes	Body soap 90 GRAMS	₱1,131.24	₱4,524.96
57	20	dozens	Body soap PINK(60G)	₱253.44	₱5,068.80
8	20	dozens	Body soap WHITE(60G)	₱253.44	₱5,068.80
59	40	bottles	Bottled water	₱45.10	₱1,804.00
0	60	bottles	Bottled Water	₱24.21	₱1,452.60
1	5	kilograms	Bread crumbs	₱198.00	₱990.00
2	5		Bread crumbs	₱198.00	₱990.00
/3	114	packs	Breading Mix	₱37.71	₱4,298.94
4	9	dozens	Broth Cubes 10g (by 12s)	₱105.00	₱945.00
5	10	packs	Broth Cubes 60g	₱45.00	₱945.00 ₱450.00
6	100	pieces	Broth Cubes BEEF	₱83.16	₱8,316.00
7	60	pieces	Broth Cubes PORK	₱46.20	
8	50	pieces	Broth Cubes SHRIMP	₱40.26	₱2,772.00 ₱2,012.00
9	3	sacks	Brown powder	₱1,320.00	₱2,013.00 ₱3,060.00
0	4	packs	Brown Sugar @ 50 kgs.		₱3,960.00
1	52	sacks	Brown Sugar	₱5,400.00 ₱3,640.00	₱21,600.00
2	1		Brown Sugar @ 10 kgs.	₱2,640.00 ₱1,000.00	₱137,280.00
- 1		hacks		₱1,080.00	₱1,080.00
3	1	packs	Brown Sugar @ 25 kgs.	₱2,700.00	₱2,700.00

137	4	boxes	Coffee Creamer (powder) 170 GRAMS	₱2,259.84	₱9,039.36
138	4	boxes	Coffee Creamer (powder) 250 GRAMS	₱2,019.60	₱ 8,078.40
139	4	boxes	Coffee Creamer (powder) 450 GRAMS	₱2,191.20	₱8,764.80
140	550	pieces	Coffee Creamer (powder) 60 GRAMS	₱21.12	₱11,616.00
141	4	boxes	Coffee Creamer (powder) 60 GRAMS	₱1,188.00	₽ 4,752.00
142	20	pieces	Coffee Creamer powder	₱35.20	₱704.00
143	5	Вох	Coffee Creamer white twin	₱750.00	\$ 3,750.00
144	2	boxes	Coffee Creamer white twin	₱750.00	₱1,500.00
145	6	dozens	Colgate Toothpaste Sachet (by 12s)	₱120.00	₱720.00
146	20	gallons	COLOR SAFE BLEACH	₱592.68	₱11,853.60
147	60	pieces	CONDENSADA	₱71.94	₱4,316.40
148	30	pieces	Condensada (canned)	₱166.04	₱4,981.20
149	25	cans	Condensed Milk (1kg)	₱114.00	₱2,850.00
150	36	cans	Condensed Milk 390g	₱54.00	₱1,944.00
151	1	boxes	CONDENSED MILK BOX	₱1,200.00	₱1,200.00
152	_ 5	pieces	Condesed Milk 1KG	₱142.50	₱712.50
153	34	cans	Cooking Oil	₱2,060.90	₱70,070.60
154	44	gallons	Cooking Oil	₱562.50	₱24,750.00
155	1	<u> </u>	cooking oil	₱2,060.90	₱2,060.90
156	2	gallons	COOKING OIL	₱750.00	₱1,500.00
157	34	gallons	Cooking oil	₱562.50	₱19,125.00
	1	litters	Cooking Oil	₱100.00	₱100.00
158	3			₱2,724.30	₱8,172.90
159		tin can	Cooking oil	₱562.50	₱562.50
160	1	gallons	COOKING OIL 17KG		
161	2	cavans	Corn starch	₱1,320.00	₱2,640.00
162	4		CORN STARCH	₱75.00	₱300.00
163	5	bags	corn starch	₱1,320.00	₱6,600.00
164	230	pieces	CORNBEEF	₱23.73	₱5,457.90
165	100	cans	CORNED BEEF	₱46.73	₱4,673.00
166	60	cans	CORNED BEEF	₱109.69	₱6,581.40
167	120	cans	CORNED BEEF	₱67.25	₱8,070.00
168	30	cans	corned beef (can)	₱45.00	₱1,350.00
169	36	cans	Corned beef 100g (100pc/box)	₱45.50	₱1,638.00
170	175	pieces	Corned beef 260g	₱43.56	₱7,623.00
171	7	boxes	CORNED BEEF(150)	₱2,250.00	₱15,750.00
172	7	boxes	CORNED BEEF(175)	₱2,550.00	₱17 <i>,</i> 850.00
173	3	boxes	CORNEDBEEF	₱2,217.60	₱6,652.80
174	10	boxes	CORNEDBEEF 150 GRAMS	₱2,250.00	₱22,500.00
175	55	cans	CORNEDBEEF 260G	₱43.56	₱2,395.80
176	145	packs	COTTON (150 G)	₱110.88	₱16,077.60
177	40	packs	COTTON BUDS	₱30.00	₱1,200.00
178	60	packs	Crackers	₱79.20	₱ 4,752.00
179	60	pieces	Crackers	₱64.61	₱3,876.60
180	2	packs	CREAM	₱840.00	₱ 1,680.00
181	20	pieces	CREAM 250 ML	₱90.00	₱1,800.00
182	70	packs	Cultured milk (probiotic)	₱59.40	₱4,158.00
183	15	pieces	Cultured milk (probiotic)	₱13.20	₱198.00
184	134	packs	Detergent bar	₱25.08	₱3,360.72
185	134	packs	Detergent Bar	₱25.08	₱3,360.72
186	60	pieces	Detergent bar	₱25.08	₱1,504.80
187	60	pieces	Detergent BAR	₱30.43	₱1,825.80
188	6	dozens	Detergent bar 380g (by 12s)	₱432.00	₱2,592.00
189	6	dozens	Detergent Bar supra white 390g (by 12s)	₱792.00	₱4,752.00
				. , , , , , , , , , , , , , , , , , , ,	. 1,702.00

191	134	packs	Detergent JUMBO BAR	₱25.08	₱3,360.72
192	248	dozens	Detergent Powder	₱42.35	₱10,502.80
193	48	dozens	Detergent powder	₱ 158.40	₱7,603.20
194	48	dozens	Detergent POWDER	₱92.40	₱4,435.20
195	48	dozens	Detergent Powder	₱198.00	₱9,504.00
196	48	dozens	Detergent powder	₱79.20	₱3,801.60
197	48	dozens	Detergent powder	₱85.80	₱4,118.40
198	4	sacks	Detergent Powder	₱894.96	₱3,579.84
199	4	sacks	Detergent Powder	₱894.96	₱3,579.84
200	200	pieces	Detergent POWDER	₱7.26	₱1,452.00
201	20	pieces	Detergent powder	₱108.50	₱2,170.00
202	7	boxes	Detergent powder jumbo (twin)	₱1,500.00	₱10,500.00
203	7	boxes	Detergent powder jumbo twin powder	₱1,500.00	₱10,500.00
204	6	dozens	Detergent powder twin pack (by 12s)	₱198.00	₱1,188.00
205	6	dozens	Detergent Powder twin pack (by 12s)	₱171.00	₱1,026.00
206	6	dozens	Detergent Powder twin pack (by 12s)	₱171.00	₱1,026.00
207	18	packs	DILIS BLACK	₱300.00	₱5,400.00
208	18	packs	DILIS WHITE	₱300.00	₱5,400.00
209	32	gallons	Dishwashing liquid	₱647.00	₱20,704.00
210	6	dozens	Dishwashing liquid 20ml (by 12s)	₱105.00	₱630.00
211	10	liters	Distilled water	₱112.20	₱1,122.00
212	20	pieces	Diswashing liquid	₱101.51	₱2,030.20
213	20	pieces	Diswashing liquid	₱101.51	₱2,030.20
214	65	dozens	Diswashing liquid (SACHET)	₱63.36	₱4,118.40
215	160	pieces	Diswashing liquid (SACHET)	₱20.77	₱3,323.20
216	35	pieces	Energy Drink	₱36.96	₱1,293.60
217	60	pieces	EVAPORADA	₱29.15	₱1,749.00
218	60	 		₱23.35	₱1,401.00
219	36	pieces	Evaporada (canned) Evaporada 410ml	₱37.50	₱1,350.00
220	10	cans	Evaporated Milk (370ml)	₱75.24	₱752.40
221	32	dozens	FABRIC CONDI.	₱52.80	₱1,689.60
222	32	dozens	Fabric conditioner	₱79.20	₱2,534.40
223	150	pieces	Fabric conditioner	₱5.94	₱891.00
224	14	dozens	Fabric conditioner	₱102.50	₱1,435.00
225		dozens	Fabric conditioner		₱1,435.00 ₱1,435.00
	14			₱102.50 ₱90.00	
226	6	dozens	Fabric conditioner 28ml (by 12s)		₱540.00
227	6	dozens	Fabric conditioner 28ml (by 12s)	₱90.00	₱540.00
228	20	pieces	Feminine Wash (150 ML)	₱225.79	₱4,515.80
229	20	pieces	Feminine Wash (250 ML)	₱304.92	₱6,098.40
230	40	pieces	Feminine Wash (60 ML)	₱96.56	₱3,862.40
231	2	bags	Fined Iodized Salt 50kgs	₱475.20	₱950.40
232	2	gallons	Fish sauce (patis)	₱285.00	₱570.00
233	17	boxes	Fish Sauce 200ml	₱594.00	₱10,098.00
234	70	dozens	Flavored concentrated powdered tea drink	₱285.12	₱19,958.40
235	30	pieces	Flavored concentrated powdered tea drink	₱228.69	₱6,860.70
236	50	pieces	Flavored Corn Snack (choco)	₱6.60	₱330.00
237	100	pieces	Flavored Corn Snack (choco)	₱6.47	₱647.00
238	35	pieces	Flavored Drink with Nata	₱42.95	₱1,503.25
239	130	pieces	Flavored snack (chichirya, barbeque)	₱6.60	₱858.00
240	50	pieces	Flavored snack (chichirya, milk flavor)	₱6.60	₱330.00
241	100	pieces	Flavored snack (chichirya, milk flavor)	₱6.47	₱647.00
242	10		Flour	₱66.00	₱660.00
243	30	sacks	Flour	₱2 , 804.00	₱84,120.00
244	5	sacks	Flour	₱1,320.00	₱6,600.00

245	6	sacks	Flour (1 sack)	₱1,575.00	₱9,450.00
246	500	pieces	Flour Sacks	₱39.60	₱19,800.00
247	3	boxes	Food coloring (yellow)	₱1,198.00	₱3,594.00
248	50	cans	FRIED SARDINE W/ TAUSI (canned goods)	₱37.38	₱1,869.00
249	10	pieces	FRUIT COCKTAIL 836G	₱1,200.00	₱12,000.00
250	6	dozens	Ginisa Flavor Mix 7g (by 12s)	₱31.50	₱189.00
251	20	packs	Ginisa Mix	₱57.00	₱1,140.00
252	13	boxes	Glutinous rice flour	₱924.00	₱12,012.00
253	10	packs	Glutinous rice flour 500g	₱78.00	₱780.00
254	100	pieces	GREAT TASTE BROWN	₱12.47	₱1,247.00
255	40	pieces	GREAT TASTE PREMIUM BLEND	₱101.96	₱4,078.40
256	10	pieces	Green Tea Flavored Drink	₱27.17	₱271.70
257	10	pieces	Green Tea Flavored Drink (large)	₱54.78	₱547.80
258	20	pieces	Green Tea Flavored Drink (medium)	₱34.71	₱694.20
259	85	packs	Green Tea Flavored Drink (median)	₱369.60	₱31,416.00
260	30	boxes	Gulaman	₱333.30	₱9,999.00
261	60		GULAMAN 25G	₱30.00	₱1,800.00
262		packs dozens	Hair conditioner	₱95.04	₱3,041.28
	32		Hair conditioner	₱24.75	₱2,475.00
263	100	pieces		₱24.73	₱585.00
264	6	dozens	Hair Conditioner (by 12s) HALF SACK CASSAVA POWDER @ 25 kls.	₱1,200.00	₱383.00
265	1	bags	· · · · · · · · · · · · · · · · · · ·	₱1,200.00 ₱79.20	
266	60	packs	Hansel Choco		₱4,752.00 ₱4,752.00
267	60	packs	Hansel	₱79.20	
268	2	sacks	harina	₱1,500.00	₱3,000.00 ₱3,407.68
269	32	dozens	Head & Shoulder	₱75.24	₱2,407.68
270	6	dozens	Head & Shoulders Shampoo twin pack (by 12s)	₱97.50	₱585.00
271	150	pieces	Heavy duty Scrub Sponge	₱33.00	₱4,950.00
272	14	pieces	Homi Beef	₱528.00	₱7,392.00
273	14	pieces	Homi Chicken	₱528.00	₱7,392.00
274	100	pieces	HOMI NOODLES CHICKEN	₱10.03	₱1,003.00
275	3	packs	HONEY HOUSE BISCUITS	₱1,746.36	₱5,239.08
276	235	packs	Icebag	₱23.76	₱5,583.60
277	8	boxes	Instant Beef noodles	₱553.08	₱4,424.64
278	8	boxes	Instant Beef noodles	₱462.00	₱3,696.00
279	10	pieces	Instant Cereal	₱79.20	₱792.00
280	14	boxes	Instant chicken Noodles	₱528.00	₱7,392.00
281	3	boxes	Instant chicken Noodles	₱947.76	₱2,843.28
282	1	boxes	Instant Chicken noodles	₱2,277.00	₱2,277.00
283	4	boxes	Instant Chicken noodles	₱462.00	₱1,848.00
284	1	boxes	Instant Chicken noodles	₱553.08	₱553.08
285	3	boxes	Instant Chicken noodles (72pc/box)	₱855.00	₱2,565.00
286	60	pieces	Instant Coffee (powder)	₱96.62	₱5,797.20
	100	pieces	Instant coffee (powder)	₱13.60	₱1,360.00
	1.1.11.1		Instant coffee (powder) 100 GRAMS	₱2,376.00	₱9,504.00
287		boxes	The state of the s	,	
287 288	4	boxes boxes	Instant Coffee (powder) 100 GRAMS	₱760.32	₱3.041.28
287 288 289	4	boxes	Instant Coffee (powder) 100 GRAMS	₱760.32 ₱1.140.48	₱3,041.28 ₱3.421.44
287 288 289 290	4 4 3	boxes boxes	Instant Coffee (powder) 100 GRAMS	₱1,140.48	₱3,421.44
287 288 289 290 291	4 4 3 4	boxes boxes boxes	Instant Coffee (powder) 100 GRAMS Instant Coffee (powder) 25 GRAMS	₱1,140.48 ₱1,491.60	₱3,421.44 ₱5,966.40
287 288 289 290 291 292	4 4 3 4 4	boxes boxes boxes boxes	Instant Coffee (powder) 100 GRAMS Instant Coffee (powder) 25 GRAMS Instant Coffee (powder) 25 GRAMS	₱1,140.48 ₱1,491.60 ₱1,075.80	₱3,421.44 ₱5,966.40 ₱4,303.20
287 288 289 290 291 292 293	4 4 3 4 4 3	boxes boxes boxes boxes	Instant Coffee (powder) 100 GRAMS Instant Coffee (powder) 25 GRAMS Instant Coffee (powder) 25 GRAMS Instant Coffee (powder) 25 GRAMS	₱1,140.48 ₱1,491.60 ₱1,075.80 ₱736.56	₱3,421.44 ₱5,966.40 ₱4,303.20 ₱2,209.68
287 288 289 290 291 292 293 294	4 4 3 4 4 3 4	boxes boxes boxes boxes boxes boxes	Instant Coffee (powder) 100 GRAMS Instant Coffee (powder) 25 GRAMS Instant Coffee (powder) 25 GRAMS Instant Coffee (powder) 25 GRAMS Instant Coffee (powder) 50 GRAMS	₱1,140.48 ₱1,491.60 ₱1,075.80 ₱736.56 ₱2,973.96	₱3,421.44 ₱5,966.40 ₱4,303.20 ₱2,209.68 ₱11,895.84
287 288 289 290 291 292 293 294 295 296	4 4 3 4 4 3	boxes boxes boxes boxes	Instant Coffee (powder) 100 GRAMS Instant Coffee (powder) 25 GRAMS Instant Coffee (powder) 25 GRAMS Instant Coffee (powder) 25 GRAMS	₱1,140.48 ₱1,491.60 ₱1,075.80 ₱736.56	₱3,421.44 ₱5,966.40 ₱4,303.20 ₱2,209.68

298	570	pieces	Instant Coffee (powder) Twin pack	₱15.84	₱9,028.80
299	570	pieces	Instant Coffee (powder) Twin pack, white	₱15.84	₱9,028.80
300	100	pieces	Instant coffee (powedr)	₱13.73	₱1,373.00
301	6	packs	Instant coffee 3 in 1 twin pack (by 10s)	₱142.50	₱855.00
302	380	dozens	Instant coffee powder Twin pack	₱134.64	₱51,163.20
303	380	dozens	Instant Coffee Powder Twin Pack	₱134.64	₱51,163.20
304	6	packs	Instant coffee powder twin pack (by 10s)	₱147.00	₱882.00
305	14	boxes	Instant Coffee twin	₱750.00	₱10,500.00
306	6	packs	Instant coffee twin pack (by 10s)	₱547.50	₱3,285.00
307	7	boxes	Instant Coffee white twin	₱547.50	₱3,832.50
308	70	dozens	Instant Drink Mix	₱285.12	₱19,958.40
309	60	cans	Instant meals (ulam, canned)	₱34.43	₱2,065.80
310	100	pieces	Instant Noodles	₱15.84	₱1,584.00
311	3	boxes	Instant Noodles BEEF	₱736.56	₱2,209.68
312	200	pieces	Instant Noodles BEEF	₱10.10	₱2,020.00
313	6	 	Instant Noodles Chicken	₱553.08	₱3,318.48
	4	boxes	Instant Noodles Chicken	₱462.00	₱3,318.48 ₱1,848.00
314 315	100	boxes	Instant Noodles Chicken	₱462.00 ₱11.22	₱1,848.00 ₱1,122.00
		pieces		 	
316	370	pieces	Instant Noodles HOT BEEF	₱18.48	₱6,837.60
317	80	pieces	IODIZED SALT	₱8.47	₱677.60
318	71	packs	lodized Salt	₱60.00	₱4,260.00
319	4	kilograms		₱52.50	₱210.00
320	5	kilograms		₱52.50	₱262.50
321	30	cans	Juice	₱300.00	₱9,000.00
322	9	pieces	JUICE 500G	₱187.50	₱1,687.50
323	70	packs	Juice Drink Tetra pack	₱99.00	₱6,930.00
324	60	cans	KARNE NORTE (canned)	₱24.47	₱1,468.20
325	65	packs	Katol	₱33.00	₱2,145.00
326	14	boxes	Ketchup	₱462.00	₱6,468.00
327	14	boxes	Ketchup	₱462.00	₱ 6,468.00
328	40	pieces	Ketchup	₱22.66	₱906.40
329	20	pieces	Ketchup	₱46.20	₱924.00
330	10	bottles	Ketchup	₱79.20	₱792.00
331	2	gallons	ketsup	₱450.00	₱900.00
332	2	gallons	LARD	₱1,500.00	₱3,000.00
333	5	gallons	LARD	₱1,500.00	₱7,500.00
334	5	packs	LAUREL	₱23.76	₱118.80
335	13	boxes	Lava Cake	₱858.00	₱11,154.00
336	90	pieces	Lava Cake	₱15.27	₱1,374.30
337	60	packs	LILLIPOP	₱46.20	₱2,772.00
338	3	cans	Lye (lihia)	₱6,600.00	₱19,800.00
339	2	kilograms	MACARONI	₱117.00	₱234.00
340	5	kilograms	MACARONI	₱117.00	₱585.00
341	200	pieces	MARGARINE	₱10.68	₱2,136.00
342	5	kilograms	MARGARINE	₱330.00	₱1,650.00
343	5	kilograms	Margarine	₱1,500.00	₱7,500.00
44	15	kilograms	Margarine	₱330.00	₱4,950.00
45	1	tumbler	margarine	₱3,933.00	₱3,933.00
46	2	pales	Margarine (11kg)	₱2,244.00	₱4,488.00
347	5	pieces	MARGARINE 11 KG	₱1,800.00	₱9,000.00
48	2	gallons	mayonaise	₱600.00	₱1,200.00
49	5	tubes	mayonaise, (special)	₱300.00	₱1,500.00
350	30	cans	meat loaf (150g)	₱45.00	₱1,350.00
351	10	boxes	Meat Loaf 150g (100pc/box)	₱1,750.00	₱17,500.00

352	3	boxes	MEATLOAF	₱1,165.56	₱3,496.68
353	60	cans	MEATLOAF	₱16.63	₱997.80
354	7	cases	MEATLOAF (170)	₱1,500.00	₱10,500.00
355	3	boxes	MEATLOAF 150 GRAMS	₱1,750.00	₱5,250.00
356	60	cans	MEATLOAF 150 GRAMS	₱27.72	₱1,663.20
357	3	boxes	MEATLOAF 170 GRAMS	₱1,500.00	₱4,500.00
358	10	packs	melon powder juice (500g)	₱150.00	₱1,500.00
359	770	pieces	MILO 74 GRAMS	₱10.56	₱8,131.20
360	10	pieces	Mouth Wash (250 ML)	₱157.41	₱1,574.10
361	10	cans	mushroom (big), can	₱67.50	₱675.00
362	20	pieces	MUSHROOM (canned)	₱84.70	₱1,694.00
363	1	cans	OIL	₱1,584.00	₱1,584.00
364	25	pieces	OIL	₱156.16	₱3,904.00
365	40	gallons	Oil	₱1,584.00	₱63,360.00
366	70	packs	Orange Juice Drink (tetra pack)	₱105.60	₱7,392.00
367	10	pieces	Orange Juice Drink (tetra pack)	₱71.06	₱710.60
		 		₱32.51	₱1,137.85
368 369	35 9	pieces	Orange Juice Drink (tetra pack) ORDINARY WAFER CONE	₱32.51 ₱127.50	₱1,137.85 ₱1,147.50
		boxes			₱1,147.50
370	100	packs	OTOP food products	₱198.00 ₱14.96	₱19,800.00 ₱1,047.20
371	70	pieces	OYSTER SAUCE		· · · · · · · · · · · · · · · · · · ·
372	25	packs	Oyster sauce	₱95.04	₱2,376.00 ₱3.460.48
373	17	pieces	Oyster Sauce 405g	₱145.20	₱2,468.40
374	1	containers		₱1,716.00	₱1,716.00
375	100	kilograms	Palm oil	₱39.60	₱3,960.00
376	140	packs	Paminta	₱27.72	₱3,880.80
377	30	packs	Paminta	₱23.76	₱712.80
378	40	packs	PAMINTA Durog	₱27.72	₱1,108.80
379	1	packs	PANCIT BIHON	₱285.00	₱285.00
380	1	 	PANCIT CANTON	₱300.00	₱300.00
381	3	boxes	Pancit Canton (72pc/box)	₱1,252.50	₱3,757.50
382	14	boxes	Pancit Canton (Extra Big)	₱990.00	₱13,860.00
383	200	pieces	PANCIT CANTON CHILIMANSI	₱17.16	₱3,432.00
384	80	pieces	PANCIT CANTON EXTRA BIG CALAMANSI	₱20.46	₱1,636.80
385	100	pieces	PANCIT CANTON ORIGINAL	₱17.16	₱1,716.00
386	3	boxes	Pancit Canton Original (72pc/box)	₱1,282.50	₱3,847.50
387	100	pieces	PANCIT CANTON SWEET CHILI	₱17.16	₱1,716.00
388	14	boxes	PANSIT CANTON	₱990.00	₱13,860.00
389	15	kilograms	pasta spaghetti	₱105.00	₱1,575.00
390	4	litters	Patis	₱102.00	₱408.00
391	2	litters	PATIS	₱102.00	₱204.00
392	100	pieces	PATIS (SACHET)	₱10.08	₱1,008.00
393	40	pieces	PATIS (SMALL)	₱19.69	₱787.60
394	1	sacks	Peanuts	₱5,280.00	₱5,280.00
395	35	bottles	Pickles	₱178.20	₱6,237.00
396	35	pieces	PINEAPPLE IN CAN	₱37.62	₱1,316.70
397	20	pieces	PINEAPPLE JUICE	₱105.65	₱2,113.00
398	15	litters	pineapple juice (can)	₱120.00	₱1,800.00
399	10	packs	pineapple powder juice	₱150.00	₱1,500.00
100	5	Bale	Plastic spoon and fork	₱450.00	₱2,250.00
101	65	packs	POSPORO	₱26.40	₱1,716.00
102	5	packs	Powder milk (2kg)	₱752.40	₱3,762.00
103	6	packs	Powdered Chocolate drink 24g (by 14s)	₱147.00	₱882.00
104	5		Powdered Chocolate drini	₱450.00	₱2,250.00
104					

406	6	dozens	Powdered juice 25g	₱324.00	₱1,944.00
		 	Powdered juice 500g (choco/ melon/ buko/		
407	5	packs	pandan/ sago't gulaman)	₱150.00	₱750.00
408	20	pieces	Powdered Milk Drink (1.2 KG)	₱597.08	₱11,941.60
409	2	boxes	Powdered Milk Drink 1.2 KG	₱9,319.20	₱18,638.40
410	2	boxes	Powdered Milk Drink 1.6 KG	₱5,940.00	₱11,880.00
411	2	boxes	Powdered Milk Drink 2 KG	₱7,590.00	₱15,180.00
412	214	pieces	Powdered Milk Drink 320 Grams	₱143.88	₱30,790.32
413	2	boxes	Powdered Milk Drink 320 GRAMS	₱4,884.00	₱9,768.00
414	445	pieces	Powdered Milk Drink 33 Grams	₱13.20	₱5,874.00
415	2	boxes	Powdered Milk Drink 700 GRAMS	₱8,514.00	₱17,028.00
416	2	boxes	Powdered Milk Drink 900 GRAMS	₱13 , 978.13	₱27,956.26
417	6	packs	Powdered Milk drink Swak 33g (by 8s)	₱117.00	₱702.00
418	6	dozens	Powdered tea 25g	₱324.00	₱ 1,944.00
419	37	packs	Raisins	₱122.76	₱4,542.12
420	20	pieces	Ready to drink juice (tetra pack)	₱19.36	₱387.20
421	5	cavans	Rice (Gracia)	₱1,950.00	₱9,750.00
422	15	kilograms		₱13.20	₱198.00
423	30		ROCK SALT	₱250.80	₱7,524.00
424	10	packs	ROCK SALT	₱30.00	₱300.00
425	3	sacks	SACK CRYSTAL SALT	₱750.00	₱2,250.00
426	1	sacks	SACK WHITE SUGAR	₱3,900.00	₱3,900.00
427	50		Salt	₱45.00	₱2,250.00
428	8	sacks	Salt	₱1,980.00	₱15,840.00
429	30	sacks	SALT	₱369.60	₱11,088.00
430	16	bags	salt	₱1,320.00	₱21,120.00
431	45	sacks	Salt	₱1,320.00 ₱528.00	
432	4	sacks	SALT	₱514.80	₱23,760.00
433	10		SALT		₱2,059.20
434	5	packs kilograms		₱33.00	₱330.00
435	2	sacks		₱45.00	₱225.00
436	30		Salt (Asin)	₱1,320.00	₱2,640.00
437			Salt (Asin)	₱45.00	₱1,350.00
438	4	packs	Salt (Asin) @ 50 kgs	₱2,250.00	₱4,500.00
		packs	Salt (Asin) @ 30 kgs	₱1,350.00	₱5,400.00
439	20	packs	Salt (Asin)	₱26.40	₱528.00
440	5	pieces	Salted Egg	₱19.80	₱99.00
441	40	pieces	Sanitary Napkin	₱77.22	₱3,088.80
442	20	pieces	Sanitary Napkin	₱71.34	₱1,426.80
443	65	packs	Sanitary Napkin (12pcs per pack)	₱33.00	₱2,145.00
144	65	packs	Sanitary Napkin (12pcs per pack)	₱34.32	₱2,230.80
145	65	packs	Sanitary Napkin (24pcs per pack)	₱63.36	₱4,118.40
446	230	cans	Sardines	₱25.08	₱5,768.40
147	16	boxes	Sardines	₱570.24	₱9,123.84
148	20	cans	Sardines	₱35.64	₱712.80
49	100	pieces	SARDINES	₱23.63	₱2,363.00
50	80	cans	SARDINES	₱22.24	₱1,779.20
51	100	pieces	SARDINES (GREEN)	₱24.62	₱2,462.00
52	4	boxes	SARDINES 150 GRAMS	₱ 2,336.40	₱9,345.60
53	3	boxes	SARDINES 150 GRAMS	₱2,220.24	₱6,660.72
54	100	cans	Sardines 150 GRAMS	₱25.08	₱2,508.00
155	100	cans	Sardines 150 GRAMS	₱25.08	₱2,508.00
156	30	cans	Sardines 155g (100pc/box)	₱35.00	₱1,050.00
57	90	cans	Sardines GREEN	₱23.76	₱2,138.40
158	30		Sardines Green small (100pc/box)	₱35.00	₱1,050.00

i

	r	T	Tank and the second sec	B2F 00	DE 700 40
459	230	cans	Sardines Red	₱25.08 ₱47.52	₱5,768.40 ₱4,276.80
460	90	cans	Sardines RED		₱2,330.00
461	100	pieces	SARDINES RED (155 G)	₱23.30	
462	40	pieces	Sardines T/SAUCE	₱65.87	₱2,634.80
463	18	gallons	Sauce for streetfoods	₱975.00	₱17,550.00
464	60	cans	SAUSAGE (canned)	₱32.26	₱1,935.60
465	15	dozens	Seasoning granules	₱54.00	₱810.00
466	13	packs	Seasoning granules	₱72.00	₱936.00
467	6	packs	Seasoning granules 8g (by 14s)	₱84.00	₱504.00
468	32	dozens	Shampoo	₱71.28	₱2,280.96
469	32	dozens	Shampoo	₱71.28	₱2,280.96
470	100	pieces	Shampoo (SACHET)	₱5.87	₱587.00
471	6	dozens	Shampoo twin pack (by 12s)	₱97.50	₱585.00
472	6	dozens	Shampoo twin pack (by 12s)	₱97.50	₱585.00
473	6	dozens	Sinigang sa Sampaloc Mix 22g by 12s)	₱217.50	₱1,305.00
474	5	kilograms	Skim Milk	₱290.40	₱1,452.00
475	2	packs	Sodium Sulfate 1 Kg	₱46.00	₱92.00
476	5	gallons	Soy sauce	₱237.60	₱1,188.00
477	20	liters	Soy Sauce	₱72.60	₱1,452.00
478	40	pieces	SOY SAUCE	₱25.08	₱1,003.20
479	12	bottles	Soy Sauce	₱270.00	₱3,240.00
480	4	litters	Soy Sauce	₱105.00	₱420.00
481	2	litters	Soy Sauce	₱105.00	₱210.00
482	1	litters	Soy Sauce	₱1,075.00	₱1,075.00
483	2	litters	Soy Sauce	₱105.00	₱210.00
484	110	pieces	Soy sauce (SACHET)	₱12.34	₱1,357.40
485	3	boxes	SOY SAUCE 1 L	₱777.48	₱2,332.44
486	6	boxes	Soy Sauce 100ml (72pc/box)	₱577.80	₱3,466.80
487	14	boxes	Soy Sauce 200ml	₱528.00	₱7,392.00
488	3	boxes	SOY SAUCE 350 ML	₱554.40	₱1,663.20
489	2	bags	Soya @ 250 kgs	₱11,055.00	₱22,110.00
490	10	kilograms		₱105.00	₱1,050.00
491	500		Soya Meal	₱46.20	₱23,100.00
492	2		SPAGHETTI PASTA	₱142.50	₱285.00
493	6		SPAGHETTI PASTA	₱142.50	₱855.00
494	230	pieces	squid (canned goods)	₱50.16	₱11,536.80
495	2	boxes	SQUID 150 GRAMS (canned goods)	₱4,643.76	
496	12	pieces	Stainless Steel ball/ wool	₱40.00	₱9,287.52
497	1		Sugar		₱480.00
498	22	cavans sacks		₱2,112.00	₱2,112.00
499			Sugar	₱1,980.00	₱43,560.00
500	9		Sugar	₱90.00	₱360.00
500		kilograms		₱90.00	₱810.00
	1	sacks	Sugar Brown (50kg)	₱3,750.00	₱3,750.00
502	1	sacks	Sugar White (25kg)	₱3,450.00	₱3,450.00
503	32	dozens	Sunsilk	₱79.20	₱2,534.40
504	9	boxes	SWEETENED WAFER CONE	₱165.00	₱1,485.00
505	50	gallons	Tagapulot (Honey)	₱132.00	₱6,600.00
506	22	packs	Tocino 225g	₱525.00	₱11,550.00
507	2		TOMATO SAUCE	₱120.00	₱240.00
508	10		TOMATO SAUCE	₱120.00	₱1,200.00
509	32	dozens	Toothpaste	₱95.04	₱3,041.28
510	87	dozens	Toothpaste	₱126.72	₱11,024.6 4
511	5	dozens	Toothpaste	₱126.72	₱633.60
512	7	boxes	TUNA (155g canned)	₱2,250.00	₱15,750.00

. Dana 10 af 17

513	330	cans	Tuna (canned)	₱22.57	₱7,448.10
514	60	pieces	Tuna (canned)	₱33.05	₱1,983.00
515	7	cases	Tuna flat (155g canned)	₱2,250.00	₱15,750.00
516	5	grams	Turmeric powder coloring	₱13.20	₱66.00
517	40	packs	Umami seasoning	₱63.36	₱2,534.40
518	1	kilograms	Umami seasoning	₱198.00	₱198.00
519	30	packs	Umami seasoning	₱52.80	₱1,584.00
520	1	kilograms	Umami seasoning	₱198.00	₱198.00
521	6	dozens	Umami seasoning 12g (by 12s)	₱54.00	₱324.00
522	14	packs	Umami seasoning 250g	₱600.00	₱8,400.00
523	4	boxes	Umami Seasoning, 100 grams	₱641.52	₱2,566.08
524	2	gallons	VANILLA	₱840.00	₱1,680.00
525	4	kilograms		₱270.00	₱1,080.00
526	15	gallons	Vinegar	₱750.00	₱11,250.00
527	20	liters	Vinegar	₱58.50	₱1,170.00
528	40	pieces	VINEGAR	₱21.12	₱844.80
529	60	pieces	VINEGAR	₱2.51	₱150.60
530	5	gallons	Vinegar	₱396.00	₱1,980.00
531	12	bottles	Vinegar	₱63.50	₱762.00
532	18	gallons	Vinegar	₱750.00	₱13,500.00
533	1	gallons	Vinegar	₱562.50	₱13,500.00 ₱562.50
534	4	litters		₱63.50	
535	2	litters	Vinegar	₱640.80	₱254.00
536	1	 	Vinegar		₱1,281.60
537	5	litters	Vinegar	₱640.80	₱640.80
538	3	litters	Vinegar	₱58.50	₱292.50
		pieces	VINEGAR 1 L	₱726.00	₱2,178.00
539	6	boxes	Vinegar 100ml (72pc/box)	₱502.20	₱3,013.20
540	14	boxes	Vinegar 200ml	₱501.60	₱7,022.40
541	3	boxes	VINEGAR 350 ML	₱501.60	₱1,504.80
542	5	liters	Water	₱6.60	₱33.00
543	20	pieces	WET	₱9.24	₱ 184.80
544	10	sacks	White Sugar	₱3,300.00	₱33,000.00
545	10		White Sugar	₱158.40	₱1,584.00
546	25		White Sugar	₱158.40	₱3,960.00
547	2	bags	White Sugar @ 30 kgs	₱4,752.00	₱9,504.00
548	4	bags	White Sugar @ 50 kgs	₱5 , 940.00	₱23,760.00
549	100	packs	White Sugar	₱71.28	₱7,128.00
550	1	cavans	White Sugar	₱3,450.00	₱3,450.00
551	5	kilograms	White Sugar	₱90.00	₱450.00
552	8	kilograms	White Sugar	₱910.00	₱7,280.00
553	2	kilograms	White Sugar	₱910.00	₱1,820.00
554	5	kilograms	White Sugar	₱90.00	₱ 450.00
555	2	kilograms	White Sugar	₱910.00	₱1,820.00
556	8	kilograms	White Sugar	₱910.00	₱7,280.00
57	4	kilograms	White Sugar	₱350.00	₱1,400.00
58	3	kilograms	White Sugar	₱350.00	₱1,050.00
59	5		White Sugar	₱350.00	₱1,750.00
60	20		White Sugar	₱75.00	₱1,500.00
61	13		White Sugar	₱3,150.00	₱40,950.00
62	9	dozens	Whole/Cracked/Ground Pepper 0.25g (by 12s)	₱30.00	₱270.00
63	50		Wipes	₱53.44	₱2,672.00
64	2		Wrapper Flour 3rd Class 25kgs	₱1,188.00	₱2,376.00
65	10		Yeast	₱195.00	72,370.00

	Total Bid	Price		a service and the service and	₱ 2,974,043.20
			x-x-x-nothing follows-x-x-x-x		
568	70	packs	Yoghurt Drink	₱59.40	₱4,158.00
567	10	packs	Yeast (500g)	₱264.00	₱2,640.00
566	5	packs	yeast	₱195.00	₱975.00

You are therefore required within ten (10) days from the receipt hereof to formally enter into contract with us, and to submit the Performance Security in the form and the amount stipulated in the instruction to Bidders. Failure to comply therewith shall constitute a sufficient ground for cancellation of this award and forfeiture of your Bid Security.

RODOLFO T. ALBANO III

Provincial Governor

Received by

DATE:

5/26/2022